# Bank Alfalah Limited Stamic Banking Group PROFIT DISTRIBUTION RATIO AND WEIGHTAGES OF POOL (USD)

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

ISLAMIC DEPOSIT PRODUCTS		Aug 2021	Jul 2021	Jun 2021	
	PROFIT SHARING RATIO				
	Share of Mudarib	85%	85%	85%	
	Share of Rabbul Maal	15%	15%	15%	
Ifalah Islamic Profex Account US	D	Weightages	Weightages	Weightages	
falah Islamic Profex Account USD - 0 to 4.999K		0.7481	0.7935	0.7718	
falah Islamic Profex Account USD - 5K to 9.999K		0.9715	1.0305	1.0022	
falah Islamic Profex Account USD - 10K to 24.999K		1.2144	1.2881	1.2528	
falah Islamic Profex Account USD - 25K to 99.999K		1.7002	1.8034	1.7539	
falah Islamic Profex Account USD - 100K and Above		1.9431	2.0611	2.2551	
slamic Roshan Digital Saving Acc	ount - USD	Weightages	Weightages	Weightages	
lamic Roshan Digital Saving Account - USD 0 to 9.999	9K	0.7481	0.7935	0.7717	
Islamic Roshan Digital Saving Account - USD 10K to 49.999K		1.2144	1.2882	1.2528	
Islamic Roshan Digital Saving Account - USD 50K to 99.999K		1.7002	1.8034	1.7539	
Islamic Roshan Digital Saving Account - USD 100K and Above					
amic Roshan Digital Saving Account - USD 100K and	d Above	1.9431	2.0611	2.2551	
amic Roshan Digital Saving Account - USD 100K and		1.9431 Weightages	2.0611 Weightages	2.2551 Weightages	
amic Deposit Products		Weightages	Weightages	Weightages	
lamic Deposit Products		Weightages 0.7481	Weightages 0.7935	Weightages 0.7717	
Jamic Deposit Products avings Deposits-USD  Ifalah Islamic Special Foreign Currency Savings Acco		Weightages 0.7481 0.7481	0.7935 0.7935	Weightages 0.7717 0.7717	
Jamic Deposit Products avings Deposits-USD  Ifalah Islamic Special Foreign Currency Savings According Deposits - FCY 1Month		0.7481 0.7481 1.7002	0.7935 0.7935 1.8034	Weightages 0.7717 0.7717 1.7539	
amic Deposit Products avings Deposits-USD  Ifalah Islamic Special Foreign Currency Savings According Deposits - FCY 1Month erm Deposit - FCY 3Months		0.7481 0.7481 1.7002 0.7480	0.7935 0.7935 1.8034 0.7935	0.7717 0.7717 1.7539 0.7717	

# Bank Alfalah Limited Islamic Banking Group PROFIT DISTRIBUTION RATIO AND WEIGHTAGES OF POOL (GBP)

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

		Aug 2021	Jul 2021	Jun 2021	
	PROFIT SHARING RATIO				
ISLAMIC DEPOSIT PRODUCTS	Share of Mudarib	85%	85%	85%	
	Share of Rabbul Maai	15%	15%	15%	
GBP Alfalah Islamic Profex Ac		Weightages	Weightages	Weightage	
Mfalah Islamic Profex Account GBP - 0 to 4.999K		0.6814	0.6529	0.6768	
Afalah Islamic Profex Account GBP - 5K to 9.999K		1.7989	1.7924	1.8486	
Alfalah Islamic Profex Account GBP - 10K to 24.999K		1.7989	1.7924	1.8485	
Nfalah Islamic Profex Account GBP - 25K to 99.999K		1.7989	1.7924	1.8485	
Alfalah Islamic Profex Account GBP - 100K and Above		1.7989	1.7924	1.8485	
slamic Roshan Digital Saving Acc	ount - GBP	Weightages	Weightages	Weightage	
Islamic Roshan Digital Saving Account - GBP 0 to 9.999K		0.6699	0.6675	0.6884	
Islamic Roshan Digital Saving Account - GBP 10K to 49.999K		1.7989	1.7924	1.8485	
Islamic Roshan Digital Saving Account - GBP 50K to 99.999K		1.7988	1.7924	1.8485	
Islamic Roshan Digital Saving Account - GBP 100K and Above		1.7989	1.7924	1.8485	
lamic Deposit Products		Weightages	Weightages	Weightages	
Savings Deposits -GBP		0.6699	0.6675	0.6884	
Alfalah Islamic Special Foreign Currency Savings Account GBP		0.6699	0.6675	0.6884	
Term Deposits - FCY 1 Month		1.7989	1.7924	1.8486	
Term Deposit - FCY 3 Months		1.7989	1.7924	1.8486	
Term Deposit - FCY 6 Mths		1.7990	1.7924	1.8487	
<u>~</u> \	Term Deposit - FCY 1 Year				

#### 

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

		Aug 2021	Jul 2021	Jun 2021	
ISLAMIC DEPOSIT PRODUCTS	PROFIT SHARING RATIO				
	Share of Mudarib	85%	85%	85%	
	Share of Rabbul Maal	15%	15%	15%	
Alfalah Islamic Profex Account EURO		Weightages	Weightages	Weightages	
Alfalah Islamic Profex Account EURO - 0 to 4.999K		1.0156	0.9309	0.9904	
Alfalah Islamic Profex Account EURO - 5K to 9.999K		1.0001	1.0002	1.0005	
Alfalah Islamic Profex Account EURO - 10K to 24.999K		1.0000	1.0001	0.9999	
Alfalah Islamic Profex Account EURO - 25K to 99.999K		1.0000	1.0001	1.0000	
Alfalah Islamic Profex Account EURO - 100K and Above		1.0000	1.0000	1.0000	
Islamic Roshan Digital Saving Account - EUR		Weightages	Weightages	Weightages	
Islamic Roshan Digital Saving Account - EUR 0 to 9.999K		1.0001	1.0002	1.0001	
Islamic Roshan Digital Saving Account - EUR 10K to 49.999K		1.0002	0.9999	0.9997	
Islamic Roshan Digital Saving Account - EUR 50K to 99.999K		0.9996	0.9999	1.0003	
Islamic Roshan Digital Saving Account - EUR 100K and Above		1.0004	0.9999	1.0000	
Islamic Deposit Products		Weightages	Weightages	Weightages	
Savings Deposits -EUR		1.0000	1.0000	1.0000	
Alfalah Islamic Special Foreign Currency Savings Account EUR		1.0000	1.0000	1.0000	
Term Deposits - FCY 1 Month		0.9998	0.9995	1.0009	
Term Deposit - FCY 3 Months		0.9996	0.9994	1.0003	
Term Deposit - FCY 6 Mths	$\sim$	1.0004	1.0002	1.0002	
Term Deposit - FCY 1 Year		1.0005	1.0002	0.9997	

#### Bank Alfalah Limited

### Islamic Banking Group PROFIT DISTRIBUTION RATIO AND WEIGHTAGES OF POOL (AED)

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

ISLAMIC DEPOSIT PRODUCTS		Aug 2021	Jul 2021	Jun 2021	
	PROFIT SHARING RATIO				
	Share of Mudarib	85%	85%	85%	
	Share of Rabbul Maal	15%	15%	15%	
Islamic Roshan Digital Saving Account - AED		Weightages	Weightages	Weightages	
Islamic Roshan Digital Saving Account - AED 0 to 9.999K		0.3478	0.3487	0.3477	
Islamic Roshan Digital Saving Account - AED 10K to 49.999K		1.0092	1.0110	1.0092	
Islamic Roshan Digital Saving Account - AED 50K to 99.999K		1.0092	1.0111	1.0092	
Islamic Roshan Digital Safring Account - AED 100K and Above		1.0092	1.0110	1.0092	
The second of	Dair /			efr.	

#### Bank Alfalah Limited

#### Islamic Banking Group

### PROFIT DISTRIBUTION RATIO AND WEIGHTAGES OF POOL (SAR)

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

ISLAMIC DEPOSIT PRODUCTS		Aug 2021	Jul 2021	Jun 2021	
	PROFIT SHARING RATIO				
	Share of Mudanb	85%	85%	85%	
	Share of Rapbul Maal	15%	15%	15%	
Islamic Roshan Digital Saving Account - SAR		Weightages	Weightages	Weightages	
Islamic Roshan Digital Saving Account - SAR 0 to 9.999K		0.3382	0.3440	0.3389	
Islamic Roshan Digital Saving Account - SAR 10K to 49.999K		1.0144	1.0319	1.0163	
Islamic Roshan Digital Saving Account - SAR 50K to 99.999K		1.0144	1.0318	1.0163	
Islamic Roshan Digital Saving Account - SAR 100K and Above		1.0144	1.0318	1.0163	
	Market (	2 00		fv .	

#### Bank Alfalah Limited

## PROFITEDISTRIBUTION RATIO AND WEIGHT AGES IOL 200 (CAD)

Bank Alfalah Limited - Islamic Banking is pleased to declare the current Weightages for Aug 2021 and two previous periods which are applicable on its Savings / Term deposits Accounts. These Weightages are used to calculate the distribution of profit as per the requirements of Shariah on the basis of Modarabah model.

The profit sharing ratio between bank and investor before deduction of Tax would be as follows:

ISLAMIC DEPOSIT PRODUCTS		Aug 2021	Jul 2021	Jun 2021	
	PROFIT SHARING RATIO				
	Share of Mudarib	85%	85%	85%	
	Share of Rabbul Maai	15%	15%	15%	
Islamic Roshan Digital Saving Account - CAD		Weightages	Weightages	Weightages	
Islamic Roshan Digital Saving Account - CAD 0 to 9.999K		0.4802	0.4694	0.3628	
Islamic Roshan Digital Saving Account - CAD 10K to 49.999K		1.2006	1.1736	1.0882	
Islamic Roshan Digital Saving Account - CAD 50K to 99.999K		1.2006	1.1736	1.0882	
Islamic Roshan Digital Saving Account - CAD 100K and Above		1.2006	1.1736	1.0882	
all our	1			J n	